

City of Corpus Christi

Sr. Buyer: Minerva Alvarado

Bid Opening Date: 5/30/2025

Bid Tabulation

RFB 6485 Ductile Iron Pipe Fittings

				Core&Main LP		STAline Waterworks		ACT Pipe & Supply		*Ferguson Enterprises LLC	
				Corpus Christi, TX		Corpus Christi, TX		Corpus Christi, TX		Corpus Christi, TX	
Item	Description	Unit	Qty	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
Hydrant Adapter											
1	6"x13" Swivel	EA	9	\$220.00	\$1,980.00	\$220.75	\$1,986.75	\$233.05	\$2,097.45		
2	6"x18" Swivel	EA	8	\$245.00	\$1,960.00	\$243.50	\$1,948.00	\$257.05	\$2,056.40		
3	8"x13" Swivel	EA	4	\$284.00	\$1,136.00	\$283.00	\$1,132.00	\$298.74	\$1,194.96		
Hydrant Bend											
4	6" Swivel 90 °	EA	5	\$259.00	\$1,295.00	\$257.75	\$1,288.75	\$272.21	\$1,361.05		
5	8" Swivel 90 °	EA	2	\$295.00	\$590.00	\$200.75	\$401.50	\$406.11	\$812.22		
Hydrant Tee											
6	6" MJ Run x 6" Swivel	EA	3	\$225.00	\$675.00	\$223.75	\$671.25	\$236.21	\$708.63		
7	8" MJ Run x 6" Swivel	EA	5	\$282.00	\$1,410.00	\$330.00	\$1,650.00	\$296.21	\$1,481.05		
Reducer											
8	MJ 20" x 10"	EA	2	\$972.00	\$1,944.00	\$992.75	\$1,985.50	\$1,048.42	\$2,096.84		
9	MJ 6" x 4"	EA	3	\$79.00	\$237.00	\$79.00	\$237.00	\$83.37	\$250.11		
10	MJ 8" x 4"	EA	4	\$108.00	\$432.00	\$107.75	\$431.00	\$113.68	\$454.72		

11	MJ 8" x 6"	EA	5	\$115.00	\$575.00	\$115.00	\$575.00	\$121.26	\$606.30		
12	MJ 10" x 4"	EA	2	\$175.00	\$350.00	\$174.00	\$348.00	\$183.79	\$367.58		
13	MJ 10" x 6"	EA	2	\$148.00	\$296.00	\$147.25	\$294.50	\$155.37	\$310.74		
14	MJ 10" x 8"	EA	2	\$163.00	\$326.00	\$162.25	\$324.50	\$171.16	\$342.32		
15	MJ 12" x 6"	EA	2	\$195.00	\$390.00	\$193.75	\$387.50	\$204.63	\$409.26		
16	MJ 12" x 8"	EA	2	\$198.00	\$396.00	\$197.50	\$395.00	\$208.42	\$416.84		
17	MJ 12" x 10"	EA	2	\$220.00	\$440.00	\$219.50	\$439.00	\$231.79	\$463.58		
18	MJ 16" x 10"	EA	2	\$465.00	\$930.00	\$464.00	\$928.00	\$490.11	\$980.22		
19	MJ 16" x 12"	EA	2	\$450.00	\$900.00	\$447.50	\$895.00	\$472.42	\$944.84		
20	MJ 6" x 4" PE	EA	2	\$124.00	\$248.00	\$123.75	\$247.50	\$130.74	\$261.48		
21	MJ 8" x 6" PE	EA	2	\$113.00	\$226.00	\$113.25	\$226.50	\$119.37	\$238.74		
22	MJ 24" x 20" PE	EA	2	\$2,730.00	\$5,460.00	\$2,795.00	\$5,590.00	\$2,719.89	\$5,439.78		
23	MJ 4" x 6" PE	EA	2	\$82.00	\$164.00	\$84.00	\$168.00	\$86.53	\$173.06		
24	MJ 6" x 8" PE	EA	2	\$125.00	\$250.00	\$124.00	\$248.00	\$130.74	\$261.48		
25	MJ 6" x 12" PE	EA	2	\$272.00	\$544.00	\$271.00	\$542.00	\$286.11	\$572.22		
26	6" Plain End x 4" PE	EA	2	\$96.00	\$192.00	\$95.75	\$191.50	\$101.05	\$202.10		
27	8" PE x 4" Plain End	EA	2	\$145.00	\$290.00	\$141.75	\$283.50	\$149.68	\$299.36		
28	8" Plain End x 6" PE	EA	2	\$150.00	\$300.00	\$149.50	\$299.00	\$152.63	\$305.26		
29	10" PE x 6" PE	EA	2	\$195.00	\$390.00	\$195.75	\$391.50	\$206.53	\$413.06		
30	16" PE x 12" PE	EA	2	\$453.00	\$906.00	\$451.00	\$902.00	\$476.21	\$952.42		
31	20" x 10" MJ	EA	2	\$972.00	\$1,944.00	\$992.75	\$1,985.50	\$1,048.42	\$2,096.84		

32	4" MJ x 90°	EA	3	\$83.00	\$249.00	\$83.25	\$249.75	\$87.79	\$263.37		
33	4" MJ x 45°	EA	4	\$70.00	\$280.00	\$69.50	\$278.00	\$73.26	\$293.04		
34	4" MJ x 11 1/4°	EA	2	\$63.00	\$126.00	\$63.00	\$126.00	\$66.32	\$132.64		
35	6" MJ x 90°	EA	6	\$136.00	\$816.00	\$135.75	\$814.50	\$143.37	\$860.22		
36	6" MJ x 45°	EA	6	\$110.00	\$660.00	\$110.25	\$661.50	\$116.21	\$697.26		
37	6" MJ x 22 1/2°	EA	2	\$101.00	\$202.00	\$100.00	\$200.00	\$105.47	\$210.94		
38	6" MJ x 11 1/4 °	EA	2	\$105.00	\$210.00	\$104.75	\$209.50	\$110.53	\$221.06		
39	8" MJ x 90°	EA	3	\$195.00	\$585.00	\$195.75	\$587.25	\$206.53	\$619.59		
40	8" MJ x 45°	EA	6	\$161.00	\$966.00	\$160.25	\$961.50	\$169.26	\$1,015.56		
41	8" MJ x 22 1/2°	EA	2	\$157.00	\$314.00	\$156.25	\$312.50	\$164.84	\$329.68		
42	10" MJ x 90°	EA	2	\$308.50	\$617.00	\$309.75	\$619.50	\$327.16	\$654.32		
43	10" MJ x 45°	EA	2	\$232.00	\$464.00	\$231.00	\$462.00	\$243.79	\$487.58		
44	10" MJ x 11 1/4°	EA	3	\$230.00	\$690.00	\$229.25	\$687.75	\$241.89	\$725.67		
45	12" MJ x 90°	EA	2	\$418.00	\$836.00	\$417.00	\$834.00	\$440.21	\$880.42		
46	12" MJ x 45°	EA	2	\$346.00	\$692.00	\$345.25	\$690.50	\$364.42	\$728.84		
47	12" MJ x 22 1/2°	EA	3	\$300.00	\$900.00	\$301.50	\$904.50	\$318.32	\$954.96		
48	12 MJ x 11 1/4°	EA	2	\$284.00	\$568.00	\$283.00	\$566.00	\$298.74	\$597.48		
49	24" MJ x 90°	EA	2	\$2,400.00	\$4,800.00	\$2,436.75	\$4,873.50	\$2,573.68	\$5,147.36		
50	4" MJ x Pe 90°	EA	2	\$99.00	\$198.00	\$98.75	\$197.50	\$104.21	\$208.42		
51	4" MJ x PE 45°	EA	2	\$74.00	\$148.00	\$88.50	\$177.00	\$77.05	\$154.10		
52	4" MJ x 22 1/2°	EA	2	\$65.00	\$130.00	\$65.25	\$130.50	\$68.84	\$137.68		
53	6" 90 MJ x Plain End	EA	2	\$164.00	\$328.00	\$162.75	\$325.50	\$171.79	\$343.58		

54	6" 45 MJ x Plain End	EA	2	\$124.00	\$248.00	\$123.25	\$246.50	\$130.11	\$260.22		
55	6" 11 ¼ MJ x Plain End	EA	2	\$119.00	\$238.00	\$118.50	\$237.00	\$125.05	\$250.10		
56	8" 45 MJ x Plain End	EA	2	\$195.00	\$390.00	\$194.50	\$389.00	\$205.26	\$410.52		
57	8" 22 ½ MJ x Plain End	EA	2	\$195.00	\$390.00	\$194.50	\$389.00	\$205.26	\$410.52		
58	8" 11 ¼ MJ x Plain End	EA	2	\$184.00	\$368.00	\$183.00	\$366.00	\$193.26	\$386.52		
59	10" MJ x PE x 45°	EA	2	\$288.00	\$576.00	\$287.25	\$574.50	\$303.16	\$606.32		
60	MJ x PE 10" 22 ½°	EA	2	\$261.00	\$522.00	\$259.75	\$519.50	\$274.11	\$548.22		
61	12" MJ x PE 22 ½°	EA	2	\$345.00	\$690.00	\$342.75	\$685.50	\$361.89	\$723.78		
62	12" MJ x PE 11 ½°	EA	2	\$299.00	\$598.00	\$297.25	\$594.50	\$313.89	\$627.78		
63	10 MJ x 22 ½°	EA	2	\$230.00	\$460.00	\$230.25	\$460.50	\$243.16	\$486.32		
64	6" MJ x PE x 22 ½°	EA	2	\$128.00	\$256.00	\$127.50	\$255.00	\$134.53	\$269.06		
65	6" MJ x PE x 90°	EA	2	\$164.00	\$328.00	\$162.75	\$325.50	\$171.79	\$343.58		
66	8" MJ x 11 ¼°	EA	2	\$143.00	\$286.00	\$141.75	\$283.50	\$149.68	\$299.36		
Offset											
67	4" MJ x 18"	EA	4	\$230.00	\$920.00	\$277.75	\$1,111.00	\$5,241.89	\$20,967.56		
68	6" MJ x 24"	EA	2	\$452.00	\$904.00	\$450.25	\$900.50	\$475.58	\$951.16		
69	8" MJ x 18"	EA	2	\$520.00	\$1,040.00	\$516.25	\$1,032.50	\$545.05	\$1,090.10		
70	8" MJ x 24"	EA	2	\$733.00	\$1,466.00	\$733.25	\$1,466.50	\$774.32	\$1,548.64		
71	10" MJ x 18"	EA	2	\$705.00	\$1,410.00	\$720.00	\$1,440.00	\$760.42	\$1,520.84		
72	12" MJ x 18"	EA	2	\$855.00	\$1,710.00	\$873.00	\$1,746.00	\$922.11	\$1,844.22		
73	4" MJ x 18" PE	EA	2	\$280.00	\$560.00	\$278.25	\$556.50	\$293.68	\$587.36		
74	6" MJ x 18" PE	EA	2	\$407.00	\$814.00	\$405.50	\$811.00	\$428.21	\$856.42		

75	6" MJ x 24" PE	EA	2	\$497.00	\$994.00	\$494.50	\$989.00	\$522.32	\$1,044.64		
76	8" MJ x 18" PE	EA	2	\$525.00	\$1,050.00	\$522.75	\$1,045.50	\$552.00	\$1,104.00		
77	8" MJ x 24" PE	EA	2	\$555.00	\$1,110.00	\$552.00	\$1,104.00	\$582.95	\$1,165.90		
78	12" MJ x 18" PE	EA	2	\$1,125.00	\$2,250.00	\$1,137.50	\$2,275.00	\$1,201.26	\$2,402.52		
79	12" MJ x 24" PE	EA	2	\$1,390.00	\$2,780.00	\$1,405.75	\$2,811.50	\$1,484.84	\$2,969.68		
Cap											
80	4" MJ	EA	4	\$32.00	\$128.00	\$31.75	\$127.00	\$33.47	\$133.88		
81	4" MJ w/2"	EA	2	\$65.00	\$130.00	\$64.75	\$129.50	\$68.21	\$136.42		
82	MJ 6"	EA	5	\$56.00	\$280.00	\$55.75	\$278.75	\$58.74	\$293.70		
83	6" MJ Cap W/2"	EA	2	\$89.00	\$178.00	\$88.50	\$177.00	\$93.47	\$186.94		
84	MJ 8"	EA	8	\$91.00	\$728.00	\$90.50	\$724.00	\$95.37	\$762.96		
85	8" MJ w /2" IPT TAP	EA	2	\$123.00	\$246.00	\$123.25	\$246.50	\$130.11	\$260.22		
86	MJ 10"	EA	2	\$113.00	\$226.00	\$113.25	\$226.50	\$119.37	\$238.74		
87	12" MJ	EA	2	\$170.00	\$340.00	\$168.75	\$337.50	\$178.11	\$356.22		
88	12" MJ w/2" IPT TAP	EA	2	\$203.00	\$406.00	\$202.25	\$404.50	\$213.47	\$426.94		
89	MJ 16"	EA	2	\$340.00	\$680.00	\$338.50	\$677.00	\$357.47	\$714.94		
90	MJ 20"	EA	2	\$555.00	\$1,110.00	\$552.00	\$1,104.00	\$582.95	\$1,165.90		
91	MJ 24" x 2" IP	EA	2	\$828.00	\$1,656.00	\$824.00	\$1,648.00	\$870.32	\$1,740.64		
92	MJ 48" DI	EA	2	\$5,600.00	\$11,200.00	\$5,741.00	\$11,482.00	\$6,063.79	\$12,127.58		
Cross											
93	6" x 4" MJ	EA	2	\$255.00	\$510.00	\$253.00	\$506.00	\$267.16	\$534.32		
94	4" MJ	EA	2	\$232.00	\$464.00	\$231.00	\$462.00	\$243.79	\$487.58		

95	6" MJ	EA	2	\$285.00	\$570.00	\$283.00	\$566.00	\$298.74	\$597.48		
96	8" MJ x 4" MJ	EA	2	\$400.00	\$800.00	\$398.25	\$796.50	\$420.63	\$841.26		
97	12" MJ x 8" MJ	EA	2	\$550.00	\$1,100.00	\$547.75	\$1,095.50	\$578.53	\$1,157.06		
98	8" MJ	EA	2	\$310.00	\$620.00	\$308.75	\$617.50	\$325.89	\$651.78		
99	12" MJ x 6" MJ	EA	2	\$480.00	\$960.00	\$477.25	\$954.50	\$504.00	\$1,008.00		
100	12" MJ x 10" MJ	EA	2	\$870.00	\$1,740.00	\$865.25	\$1,730.50	\$913.89	\$1,827.78		
101	12" MJ x 10" MJ	EA	2	\$870.00	\$1,740.00	\$865.25	\$1,730.50	\$913.89	\$1,827.78		
102	12" MJ	EA	2	\$870.00	\$1,740.00	\$865.25	\$1,730.50	\$913.89	\$1,827.78		
Plug											
103	4" MJ	EA	4	\$39.00	\$156.00	\$39.00	\$156.00	\$41.05	\$164.20		
104	4" MJ w/2" TAP	EA	3	\$72.00	\$216.00	\$71.75	\$215.25	\$75.79	\$227.37		
105	6" MJ	EA	4	\$73.00	\$292.00	\$73.00	\$292.00	\$77.05	\$308.20		
106	6" MJ w/2" IPT TAP	EA	2	\$105.00	\$210.00	\$104.75	\$209.50	\$110.53	\$221.06		
107	8" MJ	EA	2	\$108.00	\$216.00	\$107.75	\$215.50	\$113.68	\$227.36		
108	8" MJ w/2" IPT TAP	EA	2	\$140.00	\$280.00	\$140.00	\$280.00	\$147.79	\$295.58		
109	MJ 10"	EA	2	\$188.00	\$376.00	\$187.25	\$374.50	\$197.68	\$395.36		
110	MJ 12"	EA	2	\$185.00	\$370.00	\$184.25	\$368.50	\$194.53	\$389.06		
111	16" MJ	EA	2	\$488.00	\$976.00	\$485.00	\$970.00	\$512.21	\$1,024.42		
112	18" MJ	EA	2	\$625.00	\$1,250.00	\$621.50	\$1,243.00	\$656.21	\$1,312.42		
113	20" MJ	EA	2	\$815.00	\$1,630.00	\$815.75	\$1,631.50	\$861.47	\$1,722.94		
Sleeve											
114	MJ 4" x 12"	EA	12	\$72.75	\$873.00	\$73.75	\$885.00	\$77.68	\$932.16		

115	MJ 6" x 12"	EA	66	\$120.50	\$7,953.00	\$123.25	\$8,134.50	\$130.11	\$8,587.26		
116	MJ 8" x 12"	EA	29	\$195.00	\$5,655.00	\$197.50	\$5,727.50	\$208.42	\$6,044.18		
117	MJ 10" x 12"	EA	2	\$235.00	\$470.00	\$236.25	\$472.50	\$249.47	\$498.94		
118	MJ 12" x 7"	EA	2	\$240.00	\$480.00	\$241.00	\$482.00	\$254.53	\$509.06		
119	MJ 12" x 12"	EA	12	\$315.00	\$3,780.00	\$318.25	\$3,819.00	\$336.00	\$4,032.00		
120	MJ 16" x 15"	EA	19	\$600.00	\$11,400.00	\$607.75	\$11,547.25	\$641.68	\$12,191.92		
121	MJ 18" x 15"	EA	2	\$800.00	\$1,600.00	\$800.75	\$1,601.50	\$845.68	\$1,691.36		
122	MJ 20" x 15"	EA	3	\$957.00	\$2,871.00	\$967.00	\$2,901.00	\$1,021.26	\$3,063.78		
123	MJ 24" x 9"	EA	2	\$1,175.00	\$2,350.00	\$1,185.75	\$2,371.50	\$1,252.42	\$2,504.84		
124	MJ 24" x 15"	EA	2	\$1,260.00	\$2,520.00	\$1,272.50	\$2,545.00	\$1,344.00	\$2,688.00		
125	MJ 30" x 24"	EA	3	\$2,635.00	\$7,905.00	\$2,664.50	\$7,993.50	\$2,814.32	\$8,442.96		
126	MJ 36" x 24"	EA	2	\$3,700.00	\$7,400.00	\$3,739.75	\$7,479.50	\$3,949.89	\$7,899.78		
127	12" x 10" MJ x PE	EA	8	\$265.00	\$2,120.00	\$274.75	\$2,198.00	\$620.22	\$4,961.76		
128	MJ 48" x 15"	EA	2	\$5,820.00	\$11,640.00	\$5,880.75	\$11,761.50	\$6,211.58	\$12,423.16		
129	MJ 48" x 24"	EA	2	\$6,950.00	\$13,900.00	\$7,023.50	\$14,047.00	\$7,418.53	\$14,837.06		
Tee											
130	4" MJ	EA	4	\$109.00	\$436.00	\$109.00	\$436.00	\$114.95	\$459.80		
131	MJ 6" x 4"	EA	3	\$182.00	\$546.00	\$180.75	\$542.25	\$190.74	\$572.22		
132	MJ 6" x 6"	EA	2	\$195.00	\$390.00	\$194.50	\$389.00	\$205.26	\$410.52		
133	8" MJ x 4" MJ	EA	2	\$210.00	\$420.00	\$210.00	\$420.00	\$221.68	\$443.36		
134	MJ 8" x 6"	EA	2	\$242.00	\$484.00	\$241.00	\$482.00	\$254.53	\$509.06		
135	MJ 8"	EA	2	\$293.00	\$586.00	\$291.25	\$582.50	\$307.58	\$615.16		

136	MJ 12" x 6"	EA	2	\$395.00	\$790.00	\$403.25	\$806.50	\$414.95	\$829.90		
137	12" x 8" MJ	EA	2	\$454.00	\$908.00	\$452.25	\$904.50	\$477.47	\$954.94		
138	12" x 10" MJ	EA	2	\$584.00	\$1,168.00	\$581.25	\$1,162.50	\$613.89	\$1,227.78		
139	12" MJ	EA	2	\$580.00	\$1,160.00	\$579.00	\$1,158.00	\$611.37	\$1,222.74		
140	12" x 6" MJ x Swivel	EA	2	\$405.00	\$810.00	\$403.25	\$806.50	\$425.68	\$851.36		
141	16" MJ	EA	2	\$1,325.00	\$2,650.00	\$1,321.50	\$2,643.00	\$1,395.79	\$2,791.58		
Anchor											
142	MJ 8" x 8"	EA	2	\$284.00	\$568.00	\$330.00	\$660.00	\$298.74	\$597.48		
143	Coupling 12" x 13"	EA	4	\$745.00	\$2,980.00	\$744.00	\$2,976.00	\$785.68	\$3,142.72		
ELL											
144	4" MJ 45°	EA	6	\$70.00	\$420.00	\$69.50	\$417.00	\$73.26	\$439.56		
145	6" MJ 45°	EA	6	\$110.00	\$660.00	\$110.25	\$661.50	\$116.21	\$697.26		
Total				\$195,730.00		\$197,598.00		\$230,577.55			

*Bidder is non responsive
did not bid on all items